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1 Ak 5E T/ N IVEED NG 6/ 3 31.30 11k
2 R BIK BIGT /N6 6/ 5 32.27 107%
3 IKIE Wb A4 b~k /N6 6/ 4 33.14 %%
4 ) R S S CHRAE NG 4/ 4 34. 30 Stk
5 Lk = E—FREAT /6 6/ 8 35.10 8ik
6 i &R E—hrEAFT /6 6/ T 35. 38 8k
7 JERG ARER BIGT NG 4/ 8 35.44 8H%
8 _H B J SSKkE /N6 5/ 5 35. 46 Stk
9 EH #&EA M EYRSCrE /N6 5/ 3 35. 49 8k
10 A)1| e MY SA%RE /b 6/ 6 35. 80 9%
11 (L EFSEA A h~HR N6 3/ 2 35.97 %
12 RV Biks MR FEIL S C /N6 5/ 4 36.18 9%
13 WBJR SKdt 2L 6 - 3 NG 4/ 5 36. 37 TH%
14 FA R 4 ES C NG 3/ 5 36.52 TH%
15 i AKX TANIVEENS . N6 3/ 4 36. 54 TR
15 HY  FHEG =X R /NG 4/ 3 36.54 5%
17 B\ A M YRSCrE /N6 5/ 8 37.07 6%
18 AR THR K L#&EHI /INB 5/ 7 37.18 8tk
19 FRJII KK MY S4FRE /b 4/ 2 37.22 8k
20 SR a2 2V HINT /N5 5/ 6 37.35 8%
21 B&E AN 2 Vs NEET /NG 1/ 5 37.43 8k
22 ERE KW 4SS NG 1/ 2 37.55 4%
23 W RBKH A4 b~k /b 3/ 8 37.63 8k
24 Bk - v— AR /N5 4/ 1 38.78 TH%
25 R BE= LS SHH /N6 2/ 2 38.86 *TH 5%
26 & HE K B— FKH NG 2/ 3 39.04 5k
26 SFPE Bigk A4 b=k /N6 2/ 5 39. 04 3k
28 LHOEA FRFNIR72 & /N5 2/ T 39. 11 5%
20 MG ZR+ =8 B YE NG 1/ 4 39. 39 5%
30 gaA B E— FAFIL /N5 3/ 6 39.40 *F#) 45
31 Wik K A h=HR /NS 3/ 3 39.53 T
32 FADEKEA MY S4 5t /N6 2/ 6 39. 64 6%
33 keI fEIRS S /N5 3/ 7 40. 20 65%
34 AR EAY RN ITR & NG 1/ 7 40. 27 45
35 MRAE KER A b~ HR /b 2/ 4 40. 37 6%
36 R AR MlEFFESR S C - /N5 1/ 6 40. 93 6%
37 LA HifE VA AFE B T /N5 1/ 3 40. 99 6%
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